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Solve for x.

1)  

128°
x + 135

2)  

14x

15x - 5

3)  

80°

x + 87

4)  

8x - 4128°

5)  

x + 57

130°

6)  

8x - 9

7x + 1

The polygons in each pair are similar.  Find the missing side length.

7)  

?

15

18

36

18

8)  

18?
24

28
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The polygons in each pair are similar.  Find the scale factor of the smaller figure to the larger
figure.

9)  

20

35

36

42

10)  
12

21

16 16

28

State if the triangles in each pair are similar.  If so, state how you know they are similar and
complete the similarity statement.

11)  

39

3624

VU

T

13

G

F

 
VUT ~ ______

12)  

99
121

95 L

K

J

26
33

37H

G

 
LKJ ~ ______

13)  
T S

C

D

B

 
BCD ~ ______

14)  Erin has a picture that is 4 inches wide by
6 inches long.  She wants to enlarge it to
fit in a frame that is 14 inches long.  Draw
a picture, set up a proportion, and solve. 
Show all work.



©q Z2r0i1L9j aKxuVtqaD [Swomfvt]w_abrHet qLKL]Cp.f P mAplulg XrYihgIh[tbsM erxexsHeerfvLe^dy.F g \M`a_dIec Cw_iQt_hh ZIqnPfgi`nZiDt\eC aGDe]oMmheItjruyX.

Worksheet by Kuta Software LLC

-3-

Solve for x.

15)  

E D

x + 25H

I

J

x + 16

16)  

R

S

x + 28

C

DE

2x + 32

17)  
5

x + 69
12

18)  
4

x

2

5

19)  

40°75°

x + 77

20)  

25°74 + x

Find the value of x.

21)  
75°

x

22)  
35° x

23)  2m  = 8x + 9
 

65°

2

24)  2m  = x + 72
 

60° 2
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Solve for x.  Each figure is a parallelogram.

25)  

D

C B

A
77 °

6x + 17

26)  

A

B C

D
110 °

6x + 16

27)  
13

12x + 1J

K L

M

Find the measurement indicated in each parallelogram.

28)  VR = -2 + x
RT = 2x - 13
Find VT

     
W

VU

T

R

29)  CK = 2x + 10
CE = 7x + 2
Find CK

     
B C

DE

K

Each figure shows a triangle with one or more of its medians.

30)  Find WT if QW = 2.4
 

ST

P Q

R

W

31)  Find NB if VB = 15
 

B C

VW

X

N

32)  Find x if CR = 5x - 4 and UR = x + 2
 

RQ

E

DC

U

33)  Find x if CR = x and RX = 2x - 3
 

XZ

E

D

C

R
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Solve for x.

1)  

128°
x + 135

-7

2)  

14x

15x - 5

5

3)  

80°

x + 87

-7

4)  

8x - 4128°

7

5)  

x + 57

130°

-7

6)  

8x - 9

7x + 1

10

The polygons in each pair are similar.  Find the missing side length.

7)  

?

15

18

36

18

30

8)  

18?
24

28

21
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The polygons in each pair are similar.  Find the scale factor of the smaller figure to the larger
figure.

9)  

20

35

36

42

5 : 6

10)  
12

21

16 16

28

3 : 4

State if the triangles in each pair are similar.  If so, state how you know they are similar and
complete the similarity statement.

11)  

39

3624

VU

T

13

G

F

 
VUT ~ ______

similar; SAS similarity; VFG

12)  

99
121

95 L

K

J

26
33

37H

G

 
LKJ ~ ______

not similar

13)  
T S

C

D

B

 
BCD ~ ______

similar; AA similarity; BTS

14)  Erin has a picture that is 4 inches wide by
6 inches long.  She wants to enlarge it to
fit in a frame that is 14 inches long.  Draw
a picture, set up a proportion, and solve. 
Show all work.
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Solve for x.

15)  

E D

x + 25H

I

J

x + 16

-7

16)  

R

S

x + 28

C

DE

2x + 32

-12

17)  
5

x + 69
12

9

18)  
4

x

2

5

10

19)  

40°75°

x + 77

-12

20)  

25°74 + x

-9

Find the value of x.

21)  
75°

x

30°

22)  
35° x

35°

23)  2m  = 8x + 9
 

65°

2

7

24)  2m  = x + 72
 

60° 2

-12
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Solve for x.  Each figure is a parallelogram.

25)  

D

C B

A
77 °

6x + 17

10

26)  

A

B C

D
110 °

6x + 16

9

27)  
13

12x + 1J

K L

M

1

Find the measurement indicated in each parallelogram.

28)  VR = -2 + x
RT = 2x - 13
Find VT

     
W

VU

T

R

18

29)  CK = 2x + 10
CE = 7x + 2
Find CK

     
B C

DE

K

22

Each figure shows a triangle with one or more of its medians.

30)  Find WT if QW = 2.4
 

ST

P Q

R

W

1.2

31)  Find NB if VB = 15
 

B C

VW

X

N

5

32)  Find x if CR = 5x - 4 and UR = x + 2
 

RQ

E

DC

U

5

33)  Find x if CR = x and RX = 2x - 3
 

XZ

E

D

C

R

2


